



Bohr's inequalities for Hilbert space operators [☆]

Wing-Sum Cheung ^{a,*}, Josip Pečarić ^b

^a Department of Mathematics, University of Hong Kong, Hong Kong

^b Faculty of Textile Technology, University of Zagreb, Pierottijeva 6, Zagreb 10000, Croatia

Received 28 June 2005

Available online 28 November 2005

Submitted by M. Milman

Abstract

The classical Bohr's inequality states that

$$|z + w|^2 \leq p|z|^2 + q|w|^2$$

for all $z, w \in \mathbb{C}$ and all $p, q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$. In this paper, Bohr's inequality is generalized to the context of Hilbert space operators for all positive conjugate exponents $p, q \in \mathbb{R}$. In particular, the parallelogram law is recovered and some other interesting operator inequalities are established.

© 2005 Elsevier Inc. All rights reserved.

Keywords: Bohr's inequality

1. Introduction

The classical Bohr's inequality [4,10] states that for any $z, w \in \mathbb{C}$ and any $p, q > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$,

$$|z + w|^2 \leq p|z|^2 + q|w|^2,$$

with equality if and only if $w = (p - 1)z$. Over the years, various generalizations of Bohr's inequality have been obtained. These include, among others, the works of Archbold [2], Mąkowski [7], Bergström [3], Mitrinović [8,9], Mitrinović et al. [10], Vasić and Kečkić [16],

[☆] Research partially supported by the Research Grants Council of the Hong Kong SAR (Project No. HKU7017/05P).

* Corresponding author.

E-mail addresses: wscheung@hku.hk (W.-S. Cheung), pecaric@element.hr (J. Pečarić).

Rassias [14,15], Delbosco [5], and Pečarić and Janić [12]. In 1989, Pečarić and Dragomir generalized Bohr's inequality to the context of normed vector spaces. In [11] they showed that if $(X, \|\cdot\|)$ is a normed vector space and $p, q > 1$ are real numbers such that $\frac{1}{p} + \frac{1}{q} = 1$, then

$$\|v + w\|^2 \leq p\|v\|^2 + q\|w\|^2$$

for any $v, w \in X$. Recently, Hirzallah further generalized the inequality to the context of operator algebras. In [6], it was shown that if \mathbb{H} is a complex separable Hilbert space and $B(\mathbb{H})$ is the algebra of all bounded linear operators on \mathbb{H} , then for any $A, B \in B(\mathbb{H})$ and $q \geq p > 1$ with $\frac{1}{p} + \frac{1}{q} = 1$,

$$|A - B|^2 + |(1 - p)A - B|^2 \leq p|A|^2 + q|B|^2,$$

where $|X| := (X^*X)^{1/2}$.

It is worthwhile noting that in [6], only the situation where $q \geq p > 1$ is considered. Equivalently, the conjugate exponents p, q are only restricted to $q \geq 2$ and $1 < p \leq 2$, while other combinations are left alone.

In this paper, we continue working in the setting as that in [6], but without restriction to the conjugate exponents p, q . Meanwhile, we also investigate the situation of equality in detail and make connection with the parallelogram law for the Banach algebra $B(\mathbb{H})$.

2. Bohr's inequality and the parallelogram law in $B(\mathbb{H})$

Let \mathbb{H} be a complex separable Hilbert space and $B(\mathbb{H})$ the algebra of all bounded linear operators on \mathbb{H} . For any $X \in B(\mathbb{H})$, write $|X| = (X^*X)^{1/2}$.

Theorem 1. For any $A, B \in B(\mathbb{H})$ and any $p, q \in \mathbb{R}$ with $\frac{1}{p} + \frac{1}{q} = 1$, if $1 < p \leq 2$, then

- (i) $|A - B|^2 + |(1 - p)A - B|^2 \leq p|A|^2 + q|B|^2$, and
- (ii) $|A - B|^2 + |A - (1 - q)B|^2 \geq p|A|^2 + q|B|^2$.

Furthermore, in both (i) and (ii), the equality holds if and only if $p = q = 2$ or $(1 - p)A = B$.

Proof. (i) We have as in [6]

$$|A - B|^2 = |A|^2 + |B|^2 - (A^*B + B^*A)$$

and

$$|(1 - p)A - B|^2 = (1 - p)^2|A|^2 + |B|^2 - (1 - p)(A^*B + B^*A).$$

Thus

$$\begin{aligned} & |A - B|^2 + |(1 - p)A - B|^2 - p|A|^2 - q|B|^2 \\ &= (p^2 - 3p + 2)|A|^2 + (2 - q)|B|^2 + (p - 2)(A^*B + B^*A) \\ &= (p - 2)(p - 1)|A|^2 + \left(\frac{p - 2}{p - 1}\right)|B|^2 + (p - 2)(A^*B + B^*A) \\ &= (p - 2) \left[(p - 1)|A|^2 + \frac{1}{p - 1}|B|^2 + (A^*B + B^*A) \right] \end{aligned}$$

$$\begin{aligned}
 &= (p - 2) \left| \sqrt{p - 1}A + \frac{1}{\sqrt{p - 1}}B \right|^2 \\
 &\leq 0,
 \end{aligned}
 \tag{2.1}$$

hence

$$|A - B|^2 + |(1 - p)A - B|^2 \leq p|A|^2 + q|B|^2,$$

with equality if and only if $p = 2$ (hence $q = 2$) or $\sqrt{p - 1}A + \frac{1}{\sqrt{p - 1}}B = 0$, that is, $p = q = 2$ or $(1 - p)A = B$.

(ii) Similar to (i), we have

$$|A - B|^2 = |A|^2 + |B|^2 - (A^*B + B^*A)$$

and

$$|A - (1 - q)B|^2 = (1 - q)^2|B|^2 + |A|^2 - (1 - q)(A^*B + B^*A).$$

Thus

$$\begin{aligned}
 &|A - B|^2 + |A - (1 - q)B|^2 - p|A|^2 - q|B|^2 \\
 &= (q^2 - 3q + 2)|B|^2 + (2 - p)|A|^2 + (q - 2)(A^*B + B^*A) \\
 &= (q - 2)(q - 1)|B|^2 + \left(\frac{q - 2}{q - 1}\right)|A|^2 + (q - 2)(A^*B + B^*A) \\
 &= (q - 2) \left[(q - 1)|B|^2 + \frac{1}{q - 1}|A|^2 + (A^*B + B^*A) \right].
 \end{aligned}
 \tag{2.2}$$

Since $1 < p \leq 2$, we have $q \geq 2$ and so

$$|A - B|^2 + |A - (1 - q)B|^2 - p|A|^2 - q|B|^2 = (q - 2) \left| \sqrt{q - 1}B + \frac{1}{\sqrt{q - 1}}A \right|^2 \geq 0,$$

hence

$$|A - B|^2 + |A - (1 - q)B|^2 \geq p|A|^2 + q|B|^2,$$

with equality if and only if $q = 2$ (hence $p = 2$) or $\sqrt{q - 1}B + \frac{1}{\sqrt{q - 1}}A = 0$, that is, $p = q = 2$ or $(1 - q)B = A$; or equivalently, $p = q = 2$ or $(1 - p)A = B$. \square

Remark 1. Part (i) of Theorem 1 is equivalent to Theorem 1 in [6]. In fact, this follows immediately from the fact that $1 < p \leq 2 \Leftrightarrow 1 < p \leq q$.

Remark 2. By combining (i) and (ii) in Theorem 1, we have, for any $1 < p \leq 2$,

$$|A - B|^2 + |(1 - p)A - B|^2 \leq p|A|^2 + q|B|^2 \leq |A - B|^2 + |A - (1 - q)B|^2.$$

In particular, if $p = 2$, then $q = 2$ and we have

$$|A - B|^2 + |A + B|^2 \leq 2|A|^2 + 2|B|^2 \leq |A - B|^2 + |A + B|^2$$

and so we arrive at the parallelogram law

$$|A - B|^2 + |A + B|^2 = 2|A|^2 + 2|B|^2. \tag{2.3}$$

Equivalently, this is also obtained by directly writing out the equality in (i) or (ii) for the case $p = 2$.

Remark 3. In case $\mathbb{H} = \mathbb{C}$, we have $B(\mathbb{H}) = \mathbb{C}$ and in this case (2.3) reduces to

$$|a - b|^2 + |a + b|^2 = 2|a|^2 + 2|b|^2$$

for all $a, b \in \mathbb{C}$, which is the usual parallelogram law in \mathbb{C} .

Corollary 1. For any $A, B \in B(\mathbb{H})$ and any $p, q \in \mathbb{R}$ with $\frac{1}{p} + \frac{1}{q} = 1$, if $p > 2$, then

- (i) $|A - B|^2 + |(1 - p)A - B|^2 \geq p|A|^2 + q|B|^2$, and
- (ii) $|A - B|^2 + |A - (1 - q)B|^2 \leq p|A|^2 + q|B|^2$.

Furthermore, in both (i) and (ii), the equality holds if and only if $(1 - p)A = B$.

Proof. This follows from Theorem 1 by interchanging p and q . \square

Combining Theorem 1 and Corollary 1, we have the following result which takes the form of the original Bohr’s inequality.

Corollary 2. For any $A, B \in B(\mathbb{H})$ and any $p, q \in \mathbb{R}$ with $p > 1$ and $\frac{1}{p} + \frac{1}{q} = 1$,

$$|A + B|^2 \leq p|A|^2 + q|B|^2,$$

with equality if and only if $(p - 1)A = B$.

Proof. This is immediate from (i) of Theorem 1 for the case $1 < p \leq 2$, and (ii) of Corollary 1 for the case $p > 2$. \square

Corollary 3. For any $A, B \in B(\mathbb{H})$ and any $p > 1$,

$$\pm(A^*B + B^*A) \leq (p - 1)|A|^2 + \frac{1}{p - 1}|B|^2.$$

Furthermore,

$$A^*B + B^*A = (p - 1)|A|^2 + \frac{1}{p - 1}|B|^2$$

if and only if $(1 - p)A = -B$, and

$$-(A^*B + B^*A) = (p - 1)|A|^2 + \frac{1}{p - 1}|B|^2$$

if and only if $(1 - p)A = B$.

Proof. Applying Corollary 2 to the pair A, B , we have

$$|A|^2 + |B|^2 - (A^*B + B^*A) \leq p|A|^2 + \frac{p}{p - 1}|B|^2,$$

that is,

$$-(A^*B + B^*A) \leq (p - 1)|A|^2 + \frac{1}{p - 1}|B|^2,$$

with equality if and only if $(1 - p)A = B$. Similarly, applying Corollary 2 to the pair $A, -B$, we have

$$|A|^2 + |B|^2 + (A^*B + B^*A) \leq p|A|^2 + \frac{p}{p-1}|B|^2,$$

that is,

$$(A^*B + B^*A) \leq (p - 1)|A|^2 + \frac{1}{p-1}|B|^2,$$

with equality if and only if $(1 - p)A = -B$. \square

Theorem 2. For any $A, B \in B(\mathbb{H})$ and any $p, q \in \mathbb{R}$ with $\frac{1}{p} + \frac{1}{q} = 1$, if $p < 1$, then

- (i) $|A - B|^2 + |(1 - p)A - B|^2 \geq p|A|^2 + q|B|^2$, and
- (ii) $|A - B|^2 + |A - (1 - q)B|^2 \geq p|A|^2 + q|B|^2$.

Furthermore, in both (i) and (ii), the equality holds if and only if $(1 - p)A = B$.

Proof. (i) Since $p < 1$, by (2.1)

$$\begin{aligned} & |A - B|^2 + |(1 - p)A - B|^2 - p|A|^2 - q|B|^2 \\ &= (2 - p) \left[(1 - p)|A|^2 + \frac{1}{1 - p}|B|^2 - (A^*B + B^*A) \right] \\ &= (2 - p) \left| \sqrt{1 - p}A - \frac{1}{\sqrt{1 - p}}B \right|^2 \\ &\geq 0, \end{aligned}$$

so

$$|A - B|^2 + |(1 - p)A - B|^2 \geq p|A|^2 + q|B|^2,$$

with equality if and only if $(1 - p)A = B$.

(ii) Since $p < 1$, we have $q < 1$ and so by (2.2),

$$\begin{aligned} & |A - B|^2 + |A - (1 - q)B|^2 - p|A|^2 - q|B|^2 \\ &= (2 - q) \left[(1 - q)|B|^2 + \frac{1}{1 - q}|A|^2 - (A^*B + B^*A) \right] \\ &= (2 - q) \left| \sqrt{1 - q}B - \frac{1}{\sqrt{1 - q}}A \right|^2 \\ &\geq 0, \end{aligned}$$

with equality if and only if $(1 - q)B - A = 0$, or equivalently, $(1 - p)A = B$. \square

Remark 4. When $\mathbb{H} = \mathbb{C}$, again $B(\mathbb{H}) = \mathbb{C}$ and Theorem 1, Corollary 1, and Theorem 2 reduce to the following.

For any $a, b \in \mathbb{C}$ and any $p, q \in \mathbb{R}$ with $\frac{1}{p} + \frac{1}{q} = 1$,

(i) if $1 < p \leq 2$,

$$|a - b|^2 + |(1 - p)a - b|^2 \leq p|a|^2 + q|b|^2,$$

$$|a - b|^2 + |a - (1 - q)b|^2 \geq p|a|^2 + q|b|^2,$$

with equality if and only if $p = q = 2$ or $(1 - p)a = b$;

(ii) if $p > 2$,

$$|a - b|^2 + |(1 - p)a - b|^2 \geq p|a|^2 + q|b|^2,$$

$$|a - b|^2 + |a - (1 - q)b|^2 \leq p|a|^2 + q|b|^2,$$

with equality if and only if $(1 - p)a = b$;

(iii) if $p < 1$,

$$|a - b|^2 + |(1 - p)a - b|^2 \geq p|a|^2 + q|b|^2,$$

$$|a - b|^2 + |a - (1 - q)b|^2 \geq p|a|^2 + q|b|^2,$$

with equality if and only if $(1 - p)a = b$.

Furthermore, Corollary 2 gives

(iv) if $p > 1$,

$$|a - b|^2 \leq p|a|^2 + q|b|^2,$$

with equality if and only if $(1 - p)a = b$, which is exactly the classical Bohr's inequality.

Theorem 3. Let $A, B \in B(\mathbb{H})$ and $\alpha, \beta \in \mathbb{R}$ be nonzero constants.

(a) If $\alpha\beta > 0$ with, say, $|\alpha| \geq |\beta| > 0$, then

$$|A - B|^2 + \frac{1}{\alpha^2} |\beta A + \alpha B|^2 \leq \frac{\alpha + \beta}{\alpha} |A|^2 + \frac{\alpha + \beta}{\beta} |B|^2,$$

with equality if and only if $\alpha = \beta$ or $\beta A + \alpha B = 0$.

(b) If $\alpha\beta < 0$ with, say, $\alpha > 0 > \beta$,

(i) if $\alpha > 0 > \beta \geq -\alpha$, then

$$|A - B|^2 + \frac{1}{\alpha^2} |\beta A - \alpha B|^2 \leq \frac{\alpha - \beta}{\alpha} |A|^2 - \frac{\alpha - \beta}{\beta} |B|^2,$$

with equality if and only if $\alpha + \beta = 0$ or $\beta A - \alpha B = 0$;

(ii) if $\alpha > 0 > -\alpha \geq \beta$, then

$$|A - B|^2 + \frac{1}{\beta^2} |\alpha A - \beta B|^2 \leq -\frac{\alpha - \beta}{\beta} |A|^2 + \frac{\alpha - \beta}{\alpha} |B|^2,$$

with equality if and only if $\alpha + \beta = 0$ or $\alpha A - \beta B = 0$.

Proof. (a) If $\alpha \geq \beta > 0$, write

$$p = \frac{\alpha + \beta}{\alpha}, \quad q = \frac{\alpha + \beta}{\beta}.$$

Then

$$\frac{1}{p} + \frac{1}{q} = 1 \quad \text{and} \quad 1 < p \leq 2 \leq q.$$

Hence Theorem 1 applies and we have

$$|A - B|^2 + \left| -\frac{\beta}{\alpha}A - B \right|^2 \leq \frac{\alpha + \beta}{\alpha}|A|^2 + \frac{\alpha + \beta}{\beta}|B|^2$$

or

$$|A - B|^2 + \frac{1}{\alpha^2}|\beta A + \alpha B|^2 \leq \frac{\alpha + \beta}{\alpha}|A|^2 + \frac{\alpha + \beta}{\beta}|B|^2,$$

with equality if and only if

$$\frac{\alpha + \beta}{\alpha} = 2 \quad \text{or} \quad -\frac{\beta}{\alpha}A = B,$$

that is,

$$\alpha = \beta \quad \text{or} \quad \beta A + \alpha B = 0.$$

If $0 > \beta \geq \alpha$, then $-\alpha \geq -\beta \geq 0$ and so from above,

$$|A - B|^2 + \frac{1}{(-\alpha)^2}|-\beta A - \alpha B|^2 \leq \frac{-\alpha - \beta}{-\alpha}|A|^2 + \frac{-\alpha - \beta}{-\beta}|B|^2,$$

or

$$|A - B|^2 + \frac{1}{\alpha^2}|\beta A + \alpha B|^2 \leq \frac{\alpha + \beta}{\alpha}|A|^2 + \frac{\alpha + \beta}{\beta}|B|^2,$$

with equality if and only if

$$\alpha = \beta \quad \text{or} \quad \beta A + \alpha B = 0.$$

(b) (i) If $\alpha > 0 > \beta \geq -\alpha$, the assertion follows immediately by applying (a) to $\alpha \geq -\beta > 0$.

(ii) If $\alpha > 0 > -\alpha \geq \beta$, the assertion follows immediately by applying (a) to $-\beta \geq \alpha > 0$. \square

3. Applications

Interesting inequalities on operators in $B(\mathbb{H})$ can easily be derived from the Bohr-type inequalities obtained in Section 2 above. For this we first observe the following generalization of Adamović’s result [1] to $B(\mathbb{H})$.

Lemma 1. For any $A_i \in B(\mathbb{H})$, $i = 1, \dots, n$,

$$\left| \sum_{i=1}^n A_i \right|^2 - \left(\sum_{i=1}^n |A_i| \right)^2 = \sum_{1 \leq i < j \leq n} [|A_i + A_j|^2 - (|A_i| + |A_j|)^2].$$

Proof. We use induction on n . Clearly the result holds for $n = 2$. Suppose now that the result holds for $n = k$, then

$$\begin{aligned}
 & \left| \sum_{i=1}^{k+1} A_i \right|^2 - \left(\sum_{i=1}^{k+1} |A_i| \right)^2 \\
 &= \left| \sum_{i=1}^k A_i + A_{k+1} \right|^2 - \left(\sum_{i=1}^k |A_i| + |A_{k+1}| \right)^2 \\
 &= \left| \sum_{i=1}^k A_i \right|^2 - \left(\sum_{i=1}^k |A_i| \right)^2 + \sum_{i=1}^k (A_i^* A_{k+1} + A_{k+1}^* A_i) - 2|A_{k+1}| \sum_{i=1}^k |A_i| \\
 &= \sum_{1 \leq i < j \leq n} [|A_i + A_j|^2 - (|A_i| + |A_j|)^2] \\
 &\quad + \sum_{i=1}^k (A_i^* A_{k+1} + A_{k+1}^* A_i) - 2|A_{k+1}| \sum_{i=1}^k |A_i| \\
 &= \sum_{1 \leq i < j \leq n} [A_i^* A_j + A_j^* A_i - 2|A_i||A_j|] \\
 &\quad + \sum_{i=1}^k (A_i^* A_{k+1} + A_{k+1}^* A_i) - 2|A_{k+1}| \sum_{i=1}^k |A_i| \\
 &= \sum_{1 \leq i < j \leq n+1} [A_i^* A_j + A_j^* A_i - 2|A_i||A_j|] \\
 &= \sum_{1 \leq i < j \leq n+1} [|A_i + A_j|^2 - (|A_i| + |A_j|)^2]. \quad \square
 \end{aligned}$$

Theorem 4. For any $A_i \in B(\mathbb{H})$, $i = 1, \dots, n$, and any $p_{ij}, q_{ij} \in \mathbb{R}$ with $\frac{1}{p_{ij}} + \frac{1}{q_{ij}} = 1$, $1 \leq i < j \leq n$,

(i) if $p_{ij} > 1$ for all $1 \leq i < j \leq n$,

$$\left| \sum_{i=1}^n A_i \right|^2 \leq \sum_{k=1}^n \left[1 + \sum_{j=k+1}^n (p_{kj} - 1) + \sum_{j=1}^{k-1} (q_{jk} - 1) \right] |A_k|^2;$$

(ii) if $p_{ij} < 1$ for all $1 \leq i < j \leq n$,

$$\left| \sum_{i=1}^n A_i \right|^2 \geq \sum_{k=1}^n \left[1 + \sum_{j=k+1}^n (p_{kj} - 1) + \sum_{j=1}^{k-1} (q_{jk} - 1) \right] |A_k|^2.$$

Furthermore, the equalities in (i) and (ii) hold if and only if $(p_{ij} - 1)A_i = A_j$ for all $1 \leq i < j \leq n$.

Proof. (i) By Lemma 1,

$$\left| \sum_{i=1}^n A_i \right|^2 - \left(\sum_{i=1}^n |A_i| \right)^2 = \sum_{1 \leq i < j \leq n} [|A_i + A_j|^2 - (|A_i| + |A_j|)^2].$$

Equivalently we have

$$\left| \sum_{i=1}^n A_i \right|^2 - \sum_{i=1}^n |A_i|^2 = \sum_{1 \leq i < j \leq n} [|A_i + A_j|^2 - (|A_i|^2 + |A_j|^2)].$$

Applying Corollary 2 to $|A_i + A_j|$, this gives

$$\left| \sum_{i=1}^n A_i \right|^2 - \sum_{i=1}^n |A_i|^2 \leq \sum_{1 \leq i < j \leq n} [(p_{ij} - 1)|A_i|^2 + (q_{ij} - 1)|A_j|^2],$$

with equality if and only if $(p_{ij} - 1)A_i = A_j$ for all $1 \leq i < j \leq n$, that is,

$$\begin{aligned} \left| \sum_{i=1}^n A_i \right|^2 &\leq \sum_{i=1}^n |A_i|^2 + \sum_{1 \leq i < j \leq n} [(p_{ij} - 1)|A_i|^2 + (q_{ij} - 1)|A_j|^2] \\ &= \sum_{k=1}^n \left[1 + \sum_{j=k+1}^n (p_{kj} - 1) + \sum_{j=1}^{k-1} (q_{jk} - 1) \right] |A_k|^2, \end{aligned}$$

with equality if and only if $(p_{ij} - 1)A_i = A_j$ for all $1 \leq i < j \leq n$.

(ii) It follows from Corollary 4 by arguments similar to the proof of (i). \square

Remark 5. In [10, Theorem 5, p. 504] and [13, Theorem 5], it was proved that if $x_i, i = 1, \dots, n$, are elements in an unitary vector space X and $a_{ij} > 0, 1 \leq i < j \leq n$, then

$$\left\| \sum_{i=1}^n x_i \right\|^2 \leq \sum_{k=1}^n \left(1 + \sum_{j=k+1}^n a_{kj} + \sum_{j=1}^{k-1} \frac{1}{a_{jk}} \right) \|x_k\|^2.$$

Note that this is equivalent to (i) of Theorem 4.

Acknowledgment

The authors thank the referee for his sensible suggestion.

References

- [1] D.D. Adamović, Quelques remarques relatives aux généralisations des inégalités de Hlawka et de Hornich, *Mat. Vesnik* 1 (16) (1964) 241–242.
- [2] J.W. Archbold, *Algebra*, Pitman, London, 1958.
- [3] H. Bergström, A triangle-inequality for matrices, in: *Den 11-te Skandinaviske Matematikerkongress*, Trondheim 1949, Oslo, 1952, pp. 264–267.
- [4] H. Bohr, Zur Theorie der Fastperiodischen Funktionen I, *Acta Math.* 45 (1924) 29–127.
- [5] D. Delbosco, Sur une inégalité de la norme, *Univ. Beograd. Publ. Elektrotehn. Fak. Ser. Mat. Fiz.* 678–715 (1980) 276.
- [6] O. Hirzallah, Non-commutative operator Bohr inequality, *J. Math. Anal. Appl.* 282 (2003) 578–583.
- [7] A. Mąkowski, *Bol. Mat.* 34 (1961) 1–11.
- [8] D.S. Mitrinović, *Analytic Inequalities*, Springer-Verlag, New York, 1970.
- [9] D.S. Mitrinović, *Nejednakosti*, Naučna Knjiga, Beograd, 1965.
- [10] D.S. Mitrinović, J.E. Pečarić, A.M. Fink, *Classical and New Inequalities in Analysis*, Kluwer Academic, Dordrecht, 1993.

- [11] J.E. Pečarić, S.S. Dragomir, A refinement of Jensen inequality and applications, *Studia Univ. Babes-Bolyai Math.* 34 (1989) 15–19.
- [12] J.E. Pečarić, R.R. Janić, Some remarks on the paper “Sur une inégalité de la norme” of D. Delbosco, *Facta Univ. Ser. Math. Inform.* 3 (1988) 39–42.
- [13] J.E. Pečarić, Th.M. Rassias, Variations and generalizations of Bohr’s inequality, *J. Math. Anal. Appl.* 174 (1993) 138–146.
- [14] Th.M. Rassias, A generalization of a triangle-like inequality due to H. Bohr, *Abstracts Amer. Math. Soc.* 5 (1985) 276.
- [15] Th.M. Rassias, On characterizations of inner product spaces and generalizations of the H. Bohr inequality, in: Th.M. Rassias (Ed.), *Topics in Mathematical Analysis*, World Scientific, Singapore, 1989.
- [16] P.M. Vasić, J.D. Kečkić, Some inequalities for complex numbers, *Math. Balkanica* 1 (1971) 282–286.